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Q Part
la) _ _ _ m__é _Yy=nn
Gradient of paralel line between two points -3 m= X—x
1
b) |Find coordinates of B (simultaneous B(—34)
equations) ’
©) Find a constant K, given that it is on a line K=-30
28) |simpify (3+5) 45 (3v5)’=3+5-3/5=3-3-1/5-1/5=9-5=45
pA pA — pA
b) Rationalise the demoninator of (3\/3—)1-5 75—324/5 (375) t5 7_3‘/52((3\/5) +5)X<7—3i5)
7+34/5 7+3v5 ~7-3V5 (7+3V5)x(7-35)
300—i28£:75_32£
3a) , ( 7)Z 41 7.0 . 49 77 8 49 77 41
Complete the square of X —7Xx+2 y=\x=5) = ( —5) 2—7 ( _§)+Z_T ( _E)_T
b) 41

Min value?

c)

Translation of
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43a)

Show that (x+3) is a factor of x’—5 x*—8 x +48

As p(—3)=0 ,(x+3) is
a factor

—3°—5Xx—3"—8X—3+48=—27—45+24+48=0

b)

Express x’—5x*—8 x+48 as a product

of three linear factors

(x+3)(x—4)(x—4)

x’—8x+16
(x+3) ) x°—5x°—8x+48
X+3x°
—8x°—8x
—8x°—24x
16 x+48
16 x+48
0

Use the Remainder Theogrem to find the
remiander when (X—2](x"+bx+c) g
divided by (x—2)

R=20

2’ 5%2*—8X2+48=8—20+—16+48=20

d)

3 2
Express X —0X —8Xx+48 i the

form (x—2)(x*+bx+c)+r

(x—2)(x*=3x—14)+20

x’—3x—14

(x=2) y x’—5x"—8x+48
x*—2x
- 3x*-8
—3x°+6x
T —14x+48
—14 x+28

20
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5a)

Equation of circle given Centre and point on
edge.

(x—5)+(y+3)=65

C(5,—3),A(—2,1)
(x—=5)+(y+3f=K

(—2—5F+(1+3)’=K subinAforxandy

49+16=K
65=K
b) IFind coordinates of B if AB is a diameter B(12,-7) FromAto C: Ay=7,Ax=—4
From C to B will be the same as C is a mid point.
Therefore B(5+7,—3—4),B(12,-7)
o Equation of tangent at A fz,rxm_) HyHIEED (i is CA=165, AT =4
d) Length of CT CT=9

CT’=+65"4°=81
CT=9
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6a)

?

b)
What are these questions? Tangent involved?

?

c)
-1-v5 -1+V5
Draw the graph
grap Do these need reversing???

d) |Find the roots 1++5

Page 4




Sheetl

7a) Find the equation of the tangent at P(-2,24) y=-32x-40
) . 0=—32x—40
Q(=7.0) 40=—32x
Find the x-coordinate of Q, the x intercept of 5=—4x
the tangent. izx
—4
_ 5
X=——
4
c) |Solve this intergral 81 4 3 1
r . g e [ 3x —X +4x+c]
f 4—x"—3x 4 3 5
-2
d) |Find the shaded area Area of Triangle =
24 (—%——2)
=9
2
Shaded area =
81 45
- 9=
4 4
(CE)
\
8a) 3

?2??

and k<—=
k>6 >
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